NOS-TH;(BigilHBR_UMES 1)

O

4

77\ ol © c, d[
N\~ L
¢ Da L
L St
¢
B mm
i =l
SMETE L Ly ik SREPIH HEENR mAmes | m==
FORE B : i s B L ¢ d | s jwmpa | @ C | w | ar | o Cs 9
L D e JIS 24 o H7 | mMMZF) N
NOS 3T 33 12 6 M3X0.5 4.5 27 15 3 9.525(%/s) 7.4 0.3 8 10 42 1570 4.5
NOS 4T a7 12 7 M4X0.7 5.3 30 17 4 [ 103197 | 7.6 | 03 9 11| 35 | 2250 7
NOS 5T 41 16 8 M5x0.8 6 33 20 5 | 11.112(/w) | 7.7 | 03 8 13 | 30 | 3430 | 125
NOS 6T 45 18 9 M6 1 6.75 36 22 6 12.7(/2) 9 0.3 8 13 | 30 | 4900 19
NOS 8T 53 22 12 M8x 1.25 9 42 25 8 15.875(/) | 104 | 05 8 14 | 25 | 6860 32
NOS 10T 61 26 14 M10X1.5 10.5 48 29 10 19.05(%/4) 12.9 0.5 8 14 25 9410 54
NOS 12T 69 30 16 M12x1.75 12 54 33 12| 22225/ | 154 | 05 8 13 | 25 | 11000 | 85
NOS 14T 77 34 19 M14 %2 13.5 60 36 14 25.4(1) 16.9 0.7 10 16 24 15200 126
NOS 16T 85 38 21 M16 X2 15 66 40 16 28.575(1"/s) 19.4 0.7 9 15 24 20200 185
NOS 18T 93 42 23 M18X 1.5 16.5 72 44 18 31.75(1"/4) 21.9 0.7 9 15 24 25200 260
NOS 20T 101 46 25 M20X 1.5 18 78 47 20 34.925(1°/s) 24.4 0.7 9 15 24 27800 340
NOS 22T 109 50 28 M22x 1.5 20 84 51 22 | _381(17) | 258 | 07 | 10 | 15 | 23 | 35900 | 435
(#48] (B & DITHBH L] [TEF] (€9))::BEsp=))
ALy :S35C(H0%— MLUE) @mm  RERICCERT AT ENTEET A IEEET S8
. o0 AR = <l IREHIC DECY =0,
oy \DEATNOSATIESLIT 26200 fERR HOTAHEE e g 0035LT (I REBIC B B T U— R B L TL L)
iy G » ; 0
S —— et h FEUTNBATEE 01T [=1a U Dz L
T2 12 U PSSR R SR U AETNERE p6 BRUDERLDBAERILIZDFTRUET, ;_
Jyva  ECHBMAREE H
N
FURZEDERS T
NOS10T L y . . =
NOST01
WO E T
e
HESIENA
BRIV O—REFFTIZHILB AT .
[N23-12 A BOREERRL LT https://tech.thk.com TR [B23-13




